
M
AY
  2
0
24



May 2024

TEKNOROT REF: BU-288 ADAPTABLE BUICK
Lateral Arm

Weight: 3.344

ENCLAVE

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 2008-2017
Rear Right

Upper
Rearward

RK641643, 15148023, 23461854,
25788291

COMPONENTS NUMBER NAME DIRECTION OEM NO

USA Market

Length: 380

CH-914
Lateral Arm

Bushing
Rear

23461856*, C2D4013, C2P24861*,
C2P24862*

SB 986
Control Arm

Bushing
Rear Upper 15148024*

TEKNOROT REF: BU-288 ADAPTABLE CHEVROLET
Lateral Arm

Weight: 3.344

TRAVERSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2009-2017
Rear Right

Upper
Rearward

RK641643, 15148023, 23461854,
25788291

COMPONENTS NUMBER NAME DIRECTION OEM NO

USA Market

Length: 380

CH-914
Lateral Arm

Bushing
Rear

23461856*, C2D4013, C2P24861*,
C2P24862*

SB 986
Control Arm

Bushing
Rear Upper 15148024*

www.teknorot.com 1

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



May 2024

TEKNOROT REF: BU-288 ADAPTABLE GMC
Lateral Arm

Weight: 3.344

ACADIA

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 2007-2017
Rear Right

Upper
Rearward

RK641643, 15148023, 23461854,
25788291

COMPONENTS NUMBER NAME DIRECTION OEM NO

USA Market

Length: 380

CH-914
Lateral Arm

Bushing
Rear

23461856*, C2D4013, C2P24861*,
C2P24862*

SB 986
Control Arm

Bushing
Rear Upper 15148024*

TEKNOROT REF: BU-288 ADAPTABLE SATURN
Lateral Arm

Weight: 3.344

OUTLOOK

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2007-2010
Rear Right

Upper
Rearward

RK641643, 15148023, 23461854,
25788291

COMPONENTS NUMBER NAME DIRECTION OEM NO

USA Market

Length: 380

CH-914
Lateral Arm

Bushing
Rear

23461856*, C2D4013, C2P24861*,
C2P24862*

SB 986
Control Arm

Bushing
Rear Upper 15148024*

www.teknorot.com 2

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



May 2024

TEKNOROT REF: BU-289 ADAPTABLE BUICK
Lateral Arm

Weight: 3.344

ENCLAVE

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 2008-2017
Rear Left

Upper
Rearward

RK641644, 15148106, 23461855,
25788292

COMPONENTS NUMBER NAME DIRECTION OEM NO

USA Market

Length: 380

CH-914
Lateral Arm

Bushing
Rear

23461856*, C2D4013, C2P24861*,
C2P24862*

SB 986
Control Arm

Bushing
Rear Upper 15148024*

TEKNOROT REF: BU-289 ADAPTABLE CHEVROLET
Lateral Arm

Weight: 3.344

TRAVERSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2009-2017
Rear Left

Upper
Rearward

RK641644, 15148106, 23461855,
25788292

COMPONENTS NUMBER NAME DIRECTION OEM NO

USA Market

Length: 380

CH-914
Lateral Arm

Bushing
Rear

23461856*, C2D4013, C2P24861*,
C2P24862*

SB 986
Control Arm

Bushing
Rear Upper 15148024*

www.teknorot.com 3

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



May 2024

TEKNOROT REF: BU-289 ADAPTABLE GMC
Lateral Arm

Weight: 3.344

ACADIA

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 2007-2017
Rear Left

Upper
Rearward

RK641644, 15148106, 23461855,
25788292

COMPONENTS NUMBER NAME DIRECTION OEM NO

USA Market

Length: 380

CH-914
Lateral Arm

Bushing
Rear

23461856*, C2D4013, C2P24861*,
C2P24862*

SB 986
Control Arm

Bushing
Rear Upper 15148024*

TEKNOROT REF: BU-289 ADAPTABLE SATURN
Lateral Arm

Weight: 3.344

OUTLOOK

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2007-2010
Rear Left

Upper
Rearward

RK641644, 15148106, 23461855,
25788292

COMPONENTS NUMBER NAME DIRECTION OEM NO

USA Market

Length: 380

CH-914
Lateral Arm

Bushing
Rear

23461856*, C2D4013, C2P24861*,
C2P24862*

SB 986
Control Arm

Bushing
Rear Upper 15148024*

www.teknorot.com 4

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



May 2024

TEKNOROT REF: DO-612 ADAPTABLE DODGE
Tie Rod End

Weight: 1.554

RAM 2500

MODEL NO BODY YEAR DIRECTION OEM NO

2nd Gen 1994-2001 Front Left ES3496, 52039184

4WD; 10" Length; 1-1/8
-18 Thread

Length: 257 Bolt Metric: M14X1,5 Housing Metric: 1" 1/8

YEAR ONLY
1998-1999

TEKNOROT REF: DO-612 ADAPTABLE DODGE
Tie Rod End

Weight: 1.554

RAM 3500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1994-2001 Front Left ES3496, 52039184

4WD; 10" Length; 1-1/8
-18 Thread

Length: 257 Bolt Metric: M14X1,5 Housing Metric: 1" 1/8

YEAR ONLY
1998-1999

www.teknorot.com 5

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



May 2024

TEKNOROT REF: H-118 ADAPTABLE HONDA
Control Arm and Ball Joint

Weight: 4.909

HR-V

MODEL NO BODY YEAR DIRECTION OEM NO

RV5 2022-
Front Right

Lower
513503M0J00

COMPONENTS NUMBER NAME DIRECTION OEM NO

e:HEV

Length: 384 Bolt Metric: M14X2

H-424K
Ball Joint

Kit
Front Lower 51220STKA01, 51360SWAE80,

51350T7WA00, 51360T7WA00

HO-BS217
Control Arm

Bushing
Front Lower 513503M0J00*, 513603M0J00*

TEKNOROT REF: H-118S ADAPTABLE HONDA
Control Arm

Weight: 4.122

HR-V

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

RV5 2022-
Front Right

Lower
513503M0J00*

COMPONENTS NUMBER NAME DIRECTION OEM NO

e:HEV

Length: 3.137

HO-BS217
Control Arm

Bushing
Front Lower 513503M0J00*, 513603M0J00*

www.teknorot.com 6

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



May 2024

TEKNOROT REF: H-119 ADAPTABLE HONDA
Control Arm and Ball Joint

Weight: 4.909

HR-V

MODEL NO BODY YEAR DIRECTION OEM NO

RV5 2022-
Front Left

Lower
513603M0J00

COMPONENTS NUMBER NAME DIRECTION OEM NO

e:HEV

Length: 384 Bolt Metric: M14X2

H-424K
Ball Joint

Kit Front Lower
51220STKA01, 51360SWAE80,
51350T7WA00, 51360T7WA00

HO-BS217
Control Arm

Bushing
Front Lower 513503M0J00*, 513603M0J00*

TEKNOROT REF: H-119S ADAPTABLE HONDA
Control Arm

Weight: 4.122

HR-V

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

RV5 2022-
Front Left

Lower
513603M0J00*

COMPONENTS NUMBER NAME DIRECTION OEM NO

e:HEV

Length: 3.137

HO-BS217
Control Arm

Bushing
Front Lower 513503M0J00*, 513603M0J00*

www.teknorot.com 7

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



May 2024

TEKNOROT REF: HO-BS217 ADAPTABLE HONDA
Control Arm Bushing

Weight: 45

HR-V

MODEL NO BODY YEAR DIRECTION OEM NO

RV5 2022- Front Lower 513503M0J00*, 513603M0J00*

COMPONENTS NUMBER NAME DIRECTION OEM NO

e:HEV

Length: 561

H-118
Control Arm

and Ball Joint
Front Right

Lower
513503M0J00

H-118S Control Arm
Front Right

Lower
513503M0J00*

H-119
Control Arm

and Ball Joint
Front Left

Lower
513603M0J00

H-119S Control Arm
Front Left

Lower
513603M0J00*

www.teknorot.com 8

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



May 2024

TEKNOROT REF: H-1398 ADAPTABLE HONDA
Lateral Arm

Weight: 1.642

CIVIC

MODEL NO BODY YEAR DIRECTION OEM NO

FE/FL 2022- Rear Upper 52510T20A00

Length: 3.105

TEKNOROT REF: H-164K ADAPTABLE HONDA
Ball Joint Kit

Weight: 724

CR-V

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

RW1-
RW8/RT5-

RT6/RY1-RY2
2017-2022

Front Right
Lower

51220TPAJ01

Hybrid Model

Length: 654 Bolt Metric: M14X1,5

YEAR ONLY
2020-2022

www.teknorot.com 9

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



May 2024

TEKNOROT REF: H-165K ADAPTABLE HONDA
Ball Joint Kit

Weight: 724

CR-V

MODEL NO BODY YEAR DIRECTION OEM NO

RW1-
RW8/RT5-

RT6/RY1-RY2
2017-2022

Front Left
Lower

51230TPAJ01

Hybrid Model

Length: 654 Bolt Metric: M14X1,5

YEAR ONLY
2020-2022

TEKNOROT REF: HY-1091 ADAPTABLE HYUNDAI
Tie Rod End

Weight: 738

TUCSON

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

NX4 2022- Front Right 56825N7000

Length: 1.863 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

www.teknorot.com 10

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



May 2024

TEKNOROT REF: HY-1092 ADAPTABLE HYUNDAI
Tie Rod End

Weight: 738

TUCSON

MODEL NO BODY YEAR DIRECTION OEM NO

NX4 2022- Front Left 56820N7000

Length: 1.863 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

TEKNOROT REF: IN-186 ADAPTABLE INFINITI
Stabilizer Bar Link

Weight: 32

QX50

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

J55 2019- Front Right 562615NA0A

Length: 115 Bolt Metric: M10X1,25

www.teknorot.com 11

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



May 2024

TEKNOROT REF: IN-187 ADAPTABLE INFINITI
Stabilizer Bar Link

Weight: 32

QX50

MODEL NO BODY YEAR DIRECTION OEM NO

J55 2019- Front Left 562615NA0B

Length: 115 Bolt Metric: M10X1,25

TEKNOROT REF: IN-238 ADAPTABLE INFINITI
Control Arm and Ball Joint

Weight: 2.368

FX35

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

S51 2008-2013
Rear Right

Upper
CMS301118, 555011CA0A

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 3.192 Bolt Metric: M16X1,5

IN-BS016
Control Arm

Bushing
Rear Upper

CMS301010*, CMS301009*,
555011JA0A*, 555021AA0A*

www.teknorot.com 12

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



May 2024

TEKNOROT REF: IN-238 ADAPTABLE INFINITI
Control Arm and Ball Joint

Weight: 2.368

FX37

MODEL NO BODY YEAR DIRECTION OEM NO

S51 2008-2013
Rear Right

Upper
CMS301118, 555011CA0A

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 3.192 Bolt Metric: M16X1,5

IN-BS016
Control Arm

Bushing
Rear Upper

CMS301010*, CMS301009*,
555011JA0A*, 555021AA0A*

TEKNOROT REF: IN-238 ADAPTABLE INFINITI
Control Arm and Ball Joint

Weight: 2.368

FX50

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

S51 2008-2013
Rear Right

Upper
CMS301118, 555011CA0A

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 3.192 Bolt Metric: M16X1,5

IN-BS016
Control Arm

Bushing
Rear Upper

CMS301010*, CMS301009*,
555011JA0A*, 555021AA0A*

www.teknorot.com 13

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



May 2024

TEKNOROT REF: IN-238 ADAPTABLE INFINITI
Control Arm and Ball Joint

Weight: 2.368

QX70

MODEL NO BODY YEAR DIRECTION OEM NO

S51 2013-2017
Rear Right

Upper
CMS301118, 555011CA0A

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 3.192 Bolt Metric: M16X1,5

IN-BS016
Control Arm

Bushing
Rear Upper

CMS301010*, CMS301009*,
555011JA0A*, 555021AA0A*

TEKNOROT REF: IN-239 ADAPTABLE INFINITI
Control Arm and Ball Joint

Weight: 2.368

FX35

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

S51 2008-2013
Rear Left

Upper
CMS301119, 555021CA0A

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 3.192 Bolt Metric: M16X1,5

IN-BS016
Control Arm

Bushing
Rear Upper

CMS301010*, CMS301009*,
555011JA0A*, 555021AA0A*

www.teknorot.com 14

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



May 2024

TEKNOROT REF: IN-239 ADAPTABLE INFINITI
Control Arm and Ball Joint

Weight: 2.368

FX37

MODEL NO BODY YEAR DIRECTION OEM NO

S51 2008-2013
Rear Left

Upper
CMS301119, 555021CA0A

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 3.192 Bolt Metric: M16X1,5

IN-BS016
Control Arm

Bushing
Rear Upper

CMS301010*, CMS301009*,
555011JA0A*, 555021AA0A*

TEKNOROT REF: IN-239 ADAPTABLE INFINITI
Control Arm and Ball Joint

Weight: 2.368

FX50

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

S51 2008-2013
Rear Left

Upper
CMS301119, 555021CA0A

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 3.192 Bolt Metric: M16X1,5

IN-BS016
Control Arm

Bushing
Rear Upper

CMS301010*, CMS301009*,
555011JA0A*, 555021AA0A*

www.teknorot.com 15

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



May 2024

TEKNOROT REF: IN-239 ADAPTABLE INFINITI
Control Arm and Ball Joint

Weight: 2.368

QX70

MODEL NO BODY YEAR DIRECTION OEM NO

S51 2013-2017
Rear Left

Upper
CMS301119, 555021CA0A

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 3.192 Bolt Metric: M16X1,5

IN-BS016
Control Arm

Bushing
Rear Upper

CMS301010*, CMS301009*,
555011JA0A*, 555021AA0A*

TEKNOROT REF: M-1258 ADAPTABLE MERCEDES
Lateral Arm

Weight: 768

GLE-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W167 2019-
Rear Right

Upper
1673503800

COMPONENTS NUMBER NAME DIRECTION OEM NO

Exc. AMG, Exc. Hybrid

Length: 3.717

SB 864
Control Arm

Bushing
Rear

1663500206*, A1663500206*,
1663500106*, 1643501306*

SB 865
Control Arm

Bushing
Rear

1663500306*, A1663500306*,
1643501606*, 1663500206*

www.teknorot.com 16

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



May 2024

TEKNOROT REF: M-1258 ADAPTABLE MERCEDES
Lateral Arm

Weight: 768

GLS-CLASS

MODEL NO BODY YEAR DIRECTION OEM NO

X167 2020-
Rear Right

Upper
1673503800

COMPONENTS NUMBER NAME DIRECTION OEM NO

Exc. AMG, Exc. Hybrid

Length: 3.717

SB 864
Control Arm

Bushing
Rear

1663500206*, A1663500206*,
1663500106*, 1643501306*

SB 865
Control Arm

Bushing
Rear

1663500306*, A1663500306*,
1643501606*, 1663500206*

TEKNOROT REF: M-1259 ADAPTABLE MERCEDES
Lateral Arm

Weight: 768

GLE-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W167 2019-
Rear Left

Upper
1673503700

COMPONENTS NUMBER NAME DIRECTION OEM NO

Exc. AMG, Exc. Hybrid

Length: 3.717

SB 864
Control Arm

Bushing
Rear

1663500206*, A1663500206*,
1663500106*, 1643501306*

SB 865
Control Arm

Bushing
Rear

1663500306*, A1663500306*,
1643501606*, 1663500206*

www.teknorot.com 17

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



May 2024

TEKNOROT REF: M-1259 ADAPTABLE MERCEDES
Lateral Arm

Weight: 768

GLS-CLASS

MODEL NO BODY YEAR DIRECTION OEM NO

X167 2020-
Rear Left

Upper
1673503700

COMPONENTS NUMBER NAME DIRECTION OEM NO

Exc. AMG, Exc. Hybrid

Length: 3.717

SB 864
Control Arm

Bushing
Rear

1663500206*, A1663500206*,
1663500106*, 1643501306*

SB 865
Control Arm

Bushing
Rear

1663500306*, A1663500306*,
1643501606*, 1663500206*

TEKNOROT REF: M-148 ADAPTABLE MERCEDES
Lateral Arm

Weight: 772

GLE-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W167 2019-
Rear Right

Upper
1673508800

COMPONENTS NUMBER NAME DIRECTION OEM NO

Only AMG

Length: 3.717

ME-BS310
Lateral Arm

Bushing
Rear Forward 1673508000*, 1673507900*

ME-BS311
Lateral Arm

Bushing
Rear Forward 1673508000*, 1673507900*

www.teknorot.com 18

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



May 2024

TEKNOROT REF: M-148 ADAPTABLE MERCEDES
Lateral Arm

Weight: 772

GLS-CLASS

MODEL NO BODY YEAR DIRECTION OEM NO

X167 2020-
Rear Right

Upper
1673508800

COMPONENTS NUMBER NAME DIRECTION OEM NO

Only AMG

Length: 3.717

ME-BS310
Lateral Arm

Bushing
Rear Forward 1673508000*, 1673507900*

ME-BS311
Lateral Arm

Bushing
Rear Forward 1673508000*, 1673507900*

TEKNOROT REF: M-149 ADAPTABLE MERCEDES
Lateral Arm

Weight: 772

GLE-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W167 2019-
Rear Left

Upper
1673508700

COMPONENTS NUMBER NAME DIRECTION OEM NO

Only AMG

Length: 3.717

ME-BS310
Lateral Arm

Bushing
Rear Forward 1673508000*, 1673507900*

ME-BS311
Lateral Arm

Bushing
Rear Forward 1673508000*, 1673507900*

www.teknorot.com 19

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



May 2024

TEKNOROT REF: M-149 ADAPTABLE MERCEDES
Lateral Arm

Weight: 772

GLS-CLASS

MODEL NO BODY YEAR DIRECTION OEM NO

X167 2020-
Rear Left

Upper
1673508700

COMPONENTS NUMBER NAME DIRECTION OEM NO

Only AMG

Length: 3.717

ME-BS310
Lateral Arm

Bushing
Rear Forward 1673508000*, 1673507900*

ME-BS311
Lateral Arm

Bushing
Rear Forward 1673508000*, 1673507900*

TEKNOROT REF: N-106 ADAPTABLE NISSAN
Stabilizer Bar Link

Weight: 392

ALTIMA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L34 2019- Rear Right 562616CC0A

Length: 140 Bolt Metric: M12X1,25

www.teknorot.com 20

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



May 2024

TEKNOROT REF: N-107 ADAPTABLE NISSAN
Stabilizer Bar Link

Weight: 392

ALTIMA

MODEL NO BODY YEAR DIRECTION OEM NO

L34 2019- Rear Left 562616CC0B

Length: 140 Bolt Metric: M12X1,25

TEKNOROT REF: PO-546 ADAPTABLE PORSCHE
Stabilizer Bar Link

Weight: 758

TAYCAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2019- Front Right 9J1411318B, 9J1411318A

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 4.205 Bolt Metric: M10X1,5

PO-BS017
Stabilizer Bar
Link Bushing

Front 9J1411318B*, 9J1411317B*

www.teknorot.com 21

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



May 2024

TEKNOROT REF: PO-547 ADAPTABLE PORSCHE
Stabilizer Bar Link

Weight: 758

TAYCAN

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 2019- Front Left 9J1411317B, 9J1411317A

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 4.205 Bolt Metric: M10X1,5

PO-BS017
Stabilizer Bar
Link Bushing

Front 9J1411318B*, 9J1411317B*

TEKNOROT REF: PO-BS017 ADAPTABLE PORSCHE
Stabilizer Bar Link Bushing

Weight: 8

TAYCAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2019- Front 9J1411318B*, 9J1411317B*

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 34

PO-546
Stabilizer Bar

Link
Front Right 9J1411318B, 9J1411318A

PO-547
Stabilizer Bar

Link
Front Left 9J1411317B, 9J1411317A

www.teknorot.com 22

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



May 2024

TEKNOROT REF: T-108 ADAPTABLE TOYOTA
Lateral Arm

Weight: 3,318

LAND CRUISER

MODEL NO BODY YEAR DIRECTION OEM NO

J100 1998-2007 Rear Lower 4872060040

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 6.932

TO-BS209
Lateral Arm

Bushing
Rear Upper 4871034010*, 4871034020*

TEKNOROT REF: T-108 ADAPTABLE LEXUS
Lateral Arm

Weight: 3,318

LX470

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

J100 1998-2007 Rear Lower 4872060040

COMPONENTS NUMBER NAME DIRECTION OEM NO

Length: 6.932

TO-BS209
Lateral Arm

Bushing
Rear Upper 4871034010*, 4871034020*

www.teknorot.com 23

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm


